ACCESSOIRES - ACCESSORIES

| BOSSAGE TARAUDE
THREADED PORT
"
-
oo |
Code F L @D kg x100 Code F L oD  kgx100
Code BSP Code :
CBSC220300 1/8" 14.0 20 2.80 CBSC221215 M12x1.5 14 22 3,70
CBsC220400 1/4" 16.0 22 3.50 CBS0001415014 M14x1.5 14 22 2,80
CB50400013 1/4" 13.0 22 2,60 CBSC221415 M14x1.5 14 22 3.20
CBSC220400 3/8" 17.0 26 4,70 CBSC221415 M16x%1.5 17 26 4,90
CBS0400015 3/8" 15.0 26 4,20 CBS0001815014 M18x1.5 14 28 4,40
CBSC220800 | s 18.0 30 6,10 CBSC221815 M18x1.5 18 28 5,70
CBSC221200 3/4" 20.0 38 10,50 CBSC222015 M20x1.5 18 30 6,10
CBSC221600 i 25.0 45 16,20 CBSC222215 M22x1.5 18 30 5,30
CBSC222000 1"1/4 245 55 22.60
CBSC222400 1"1/2 30.0 60 28,90
CBSC223200 2" 30.0 70 30,70

MATERIEL : ACIER
MATERIAL . STEEL

Lu s0ei2IE kel oppurlen bou e mudiiculion uu procuil suis ovis préakable,
The company feserves tha righi fa waalfy ‘e produet of eny ime withous prar naliee




* WHILE STOCKS LAST

Note
* ARTICOLO IN ESAURIMENTO

Adaptors
Adattatori

WELD ADAPTORS

ADATTATORI A SALDARE
BSG
BSPP WELD BOSS
BORCHIAA SALDARE BSPP
Code Article Thread
Codice Articolo Filetto
i
BSG02 1/8-28
BSGO4 1/4-19
BSGO6 3/8-19
BSGO8 1/2-14
BSG10* 5/8-14
BSG12 3/4-14
BSG16 111
BSG20 1"1/4-11
BSG24 1"1/2-11
BSG32 311

16
16
17

18

20,4
24,5
2
30,5

30,5

Dimensions (mm)
Dimensioni (mmy)

19

22

26

30

32

36

56

60

70

223



ACCESSOIRES - ACCESSORIES

S - BOSSAGE TARAUDE
THREADED PORT

oo |
b 1 L @D kgx100 Sl F L oD kgx100
CB50300000 1/8" 14.0 20 2.80 CBS0001215 M12x1.5 14 22 3.70
CBS0400000 /4" 16.0 22 3.50 CBS0001415014 M14x1.5 14 22 2,80
CBS0400013 1/4" 13.0 22 2,80 CBS0001415 M14x1.5 14 22 3,20
CBS0600000 3/8" 17.0 26 4,70 CBS0001615 M16x1.5 17 26 4,90
CBS0600015 3/8" 15.0 26 4,20 CBS0001815014 M18x1.5 14 28 4,40
CBS0800000 1/2" 18.0 30 6,10 CBS0001815 M18x1.5 18 28 5,70
CBS1200000 3/4" 20.0 38 10,50 CBS0002015 M20x1.5 18 30 6,10
CBS51600000 i 25.0 45 16,90 CBS0002215 M22x1.5 18 30 5,30
CBS2000000 1"1/4 24.5 55 22,60
CB52400000 1172 30.0 60 28,90
CBS3200000 2" 30.0 70 30,70

MATERIEL : ACIER
MATERIAL . STEEL

BOSSAGE TARAUDE AVEC PURGE
THREADED PORT WITH BLEEDER

~l

Code E

Oora ke L aD a6 L1 kg x 100
CBSS0430Mé 1/4" 30 22 12 12 6,40
CBSS0630Mé 3/8" 30 26 12 12 8,20
CBSS0830Mé 1/2" 30 30 12 12 10,10
MATERIEL : ACIER
MATERIAL : STEEL

L 506i21E kel sppur e tou e nodiieulion uu procuil su s ovis préakile,
The enmpany feseves 2 right fo raalfy ‘e produes of eny ime withous prar noliee




ACCESSORIES - ACCESSOIRES‘

BOSSAGE HAUT TARAUDE |
HIGH THREADED PORT

AR SN

L ¢p .
Code F
Code Bsp LF L aD kg x 100
CBSP040000 1/4" 27 40 22 8.60
CBSP06000D0 3/8" 28 42 26 11,70
CBSP0800DD 1/2 33 48 an 16,30

MATERIEL : ACIER
MATERIAL . STEEL

BOSSAGE BORGNE TARAUDE
BLIND THREADED PORT

7o
Code F
H R LF L [ kg x 100
CBSLO40000 1/4" 13 30 22 7,30
CBSLO&0000 3/8" 20 35 26 10,70
CBSLOB000O 1/2" 22 35 30 13,80

MATERIEL : ACIER
MATERIAL : STEEL

Lo souiglé peul upporler loule mudificolion ou produil suns avis aiéalob e,
The comnany ieserves e ght to mod'fy ine procuct af Gry time withou prior nofice.




ACCESSOIRES - ACCESSORIES

CBSLT T BOSSAGE TARAUDE POUR TUBE HYDRAULIQUE
THREADED PORT FOR FEED PIPE

o - LF L D 26 L1 kg x 100
CBSLT04010 1/4" 15 30 22 10,5 12 6,90
CBSLT06012 3/8" 15 35 26 12,5 15 10,50
CBSLTOB015 1/2" 15 35 30 15,5 15 13,20

MATERIEL : ACIER
MATERIAL - STEEL

La suei2lé peul oppurler loule nodifculio au procuil suns ovis préalu ok,
The compony fesedves tha right fa wadfy ‘e product ot eny fime witho's prar nolice




ACCESSORIES - ACCESSOIRES‘

BLOCENTREE HUILE ’—‘
OIL INLET SUPPORT

PRI TS
T 7N !
= 7 f:/,
G
Code F Boite T Pcs
Code BSP LF L 90 H 26 L ko pox @ Pcs
CBLT040000 1/4" 15 26.0 30 28 7 18 0,10 Z50CBLT040000 50
CBLTD6D00D 3/8" 20 30.5 35 30 8 18 5 Z50CBLT06D000 50
CBLT080000 1/2¢ 22 40.0 45 38 12 23 i34 250CBLT080000 50

MATERIEL = ACIER $355J0 (Feb10C ) - S355JR [A106)
MATERIAL - STEEL  5355J0 ( Fe510C ) - 5355JR ( A105 )

Lo souiglé peul uppurler loule mudificolion ou produil suns avis aiéalob e,
Tha company weserves Me ght i Tod'fy ine procuct of oy ime withou prov ofice




